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How many colours are there in
the cooperative flag ?

(a) Five

(b) Seven

(c) Four

(d) Six

The supreme authority in the

cooperative society 1s

(a) Board of Management

(b) Director of Cooperative
Management

(c) General Body

(d) None of the above

Who is the father of cooperation ?
(a) R.W. Gerard

(b) E.R. Brown

(c) Robert Owen

(d) Charles Gide

Chief characteristics of

Cooperative Movement before

Independence in India is

1. Official sponsorship of the
movement and development
without much state aid

2. Largely confined to credit
and uneven growth

3. Unplanned growth
4. Non-Credit Movement was
largely confined to

Consumer Cooperatives
Choose the correct code :
(a) (1) and (2) are correct.
(b) (1), (2) and (3) are correct.
(¢) (1), (3) and (4) are correct.
(d) All the above are correct.

B-A)

The head office of the
International Cooperative
Alliance (ICA) is in

(a) Beijing

(b) Geneva

(c) India

(d) Sri Lanka

In which year the National

Cooperative Development
Corporation (NCDC) was
established ?

(a) 1954

(b) 1949

(c) 1990

(d) 1963

What are the defects and
malpractices prevailing as per the
system of Agricultural Marketing
in India ?

(a) Multiplicity  of  market
charges
(b) Unconscionable trade

allowances and late payment
for the farmers produce.

(c) Lack of grading facilities,
adulteration and  faulty
weighment.

(d) All of the above

Cooperation became a state
subject with the introduction of
Reforms Act of

(a) 1904
(b) 1912
(c) 1919

(d) None of the above
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The slogan for the International

year of cooperation celebrated

recently is

(a) Cooperative Training Build
a better world

(b) Cooperative Enterprises
remains strong in the time of
world crisis

(c) Rural Enterprises build a
better world

(d) Cooperative Enterprises
build a better world

Which of the following statement

is incorrect ?

(a) The quorum for a
representative general
meeting of a cooperative
society shall not be less than
sixty percent of the
representatives  eligible to
vote at the meeting.

(b) The board of a cooperative
society may at any time call
a special general body
meeting after receipt of
request from 1/5 of the total
number of members in
writing.

(c) Every cooperative society
shall convene the general
body meeting of its
members in a year before
31% of March.

(d) Two seats in the board of
every primary cooperative
society shall be filled by
election in favour of women.

(5-A)

11. Which one of the following

statements 1S incorrect ?

(a) The chief executive shall
have a right to vote in the
election of the office-bearers

of the board.

(b) The chief executive 1is
responsible for the day-to-
day management and

business of the society.

(c) The chief executive can sue
and sued on behalf of the

society.

(d) The chief executive shall
have a right to attend every
meeting of the society and
the board thereof and to take
part in the discussion and to

move any resolution.
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being elected or appointed or
continued as member of the board

of any cooperative society if,

I. he is a defaulter to that
society or other cooperative
society.

2. he is not a paid employ of

such cooperative society.

3. he carries on a business of
the kind carried on by such
cooperative society or by a
cooperative
which,

society i1s a member.

society  of

such cooperative

4. he has been convicted by a

court in India for any

offence and sentence to
imprisonment for a term of
not less than two years,
unless a period of five years
has elapsed from the date of

his release.
Select the correct codes :
(a) Only 1 correct.
(b) 1 and 2 are correct.
(c) 2 and 3 are correct.

(d) All are correct.

13.

14.

15.

(7T-A)

All India Rural Credit Survey

Committee Report 1954,
recommended
(a) For the  Government’s

participation  in Share
Capital support, for viability
of a Society.

(b) For the  Government’s
participation n the
management of a Society.

(c) For the Government’s
participation in Training of
Co-operative Society’s staff.

(d) For the Government’s
participation  to  check/

reduce the area of operation
of a Society.

The first Co-operative Credit

Societies Act in India was
enacted in the year

(a) 1902

(b) 1903

(c) 1904

(d) 1905

In the first five year plan of India

(a) The setting-up of Marketing
co-operatives was envisaged.

(b) The setting-up of Service
co-operatives was envisaged.

(c) The setting-up of Dairy co-
operatives was envisaged.

(d) The setting-up of Food

processing co-operatives
was envisaged.
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The Registrar of Co-operative
Societies may refuse to register a

Society

(a) which complies with the
provisions of Section 4 of

the Act.

(b) whose application complies
with the provisions of the

Act in total.

(c) whose proposed aims are

consistent with the

principles of social justice.

(d) whose application does not
comply with the provisions

of other laws in force.

The funds of a Co-operative

Society shall not be spent for
(a) the day-to-day business
(b) the investments
(c) the staff salaries

(d) the bonus or dividends

18.

19.

9O-A)

The Chartered
chosen for Audit, by a State Co-

Accountant

operative Bank

(a) must have been chosen from
a Panel approved by the

State Government.

(b) must have been chosen from
a Panel approved by the
General Body.

(c) must have been chosen from
a Panel approved by the
National Bank.

(d) must have been chosen from

a Panel approved by the

Board.
The General Body of a
Co-operative Society does

appoint an Auditor or Auditing

Firm for the audit of

(a) The previous Co-operative
year of the General Body
Meeting

(b) the year of General Body,
being held

(c) the forth

Co-operative year of the

coming

General Body Meeting

(d) any of the Co-operative
years as per the need
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for re-audit, based on the

application made by the Society

(a) when there is prima-facie
case of irregularity in Audit
conducted.

(b) when there is a General
Body resolution annexed in

the proposal.

(c) when there is a Board
resolution annexed in the
proposal.

(d) when there 18 a

recommendation from the
Registrar of Co-operative
Societies.

For an amendment to By-laws of
a Co-operative Society, the basic

requirement is
(a) a Board resolution with 3/4™
majority of  Directors

present.

(b) a General Body resolution
with a minimum of 3/4"

majority of  Directors
present.
(c) an Executive Committee

resolution with a minimum
of 3/4™ majority of members
present.

(d) a from Chief
Executive is enough.

proposal

22. While distributing the net profits,

23.

(11-A)

a Co-operative Society shall

(a) make a provision of

maximum of 25% to

Reserve Fund

(b) make a provision of
minimum of 25% to Reserve
Fund

(c) make a provision of
minimum of 50% to Reserve

Fund

(d) make a provision without
any restriction to the

Reserve Fund

Tick the one listed below who is
eligible to vote in the election to
the Board of a Co-operative
Society
(@) a

member

nominal or associate

(b) an individual member who

is a defaulter

(c) an individual member of a
newly registered Co-operative
Society, in the first General
Body.

(d) a local body in the list of

defaulters.
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Identify
from the below :

the wrong statement

(a) The Registrar of Co-operative
Societies could book a case
under surcharge on the

Committee of a

Management of a Co-

operative Society.

(b) The Registrar of Co-operative
Societies could book a case
under surcharge on the

President/Vice-President of

a Co-operative Society.

(c) The Registrar of Co-operative
Societies could book a case
under surcharge on the
employee/officer of a
Co-operative Society.

(d) The Registrar of Co-operative
Societies could book a case
under surcharge on the

committee of a Management

of a Co-operative Society
except the Government

nominees.

The NABARD Act was passed
by the Parliament on :

(a) 1% November 1981
(b) 1% December 1981
(c) 1% October 1981
(d) 1% January 1981

26.

27.

(13-A)

HRM is viewed as a management

process, consisting of four
functional activities :

1. Acquisition

2. Motivation

3. Development

4. Resolution of industrial

disputes
5. Maintenance
Select the correct combination.
(a) 1,2,3and 4
(b) 1,2,3and 5
(c) 1,2,4and 5

(d 1,3,4and>5

The general pattern of behaviour,

share belief and values that

members have in common is

known as

(a) Organization climate

(b) Organization culture

(¢) Organization effectiveness

(d) Organization matrix



28.

29.

30.

31.

16

B, FIOYE  @EC G3f-Dle)

FINTPINYEY  O3NPTD  dTETHD

m@jd S NTOYH DY

(a) RoFTFeIIHOT VB3 Be Sy
SePIT  BTIRIODT)Y BN
ROTTEIBOD SoZIRGTON
HRODUIEB

(b) Roz &zoRS

(¢) SFRBIT e

@ N &
(d) ABeesINT 2T,

83 FINIYNIY OIPRTIIY RIS
HOTBRY ASEBHOD NFIT QO
TOMEIRRNY

(a) SOS FoTBR,® 03ee%T

(b) BesHnzd T 0,

(C) BTIODE NETE T IOLEE CH
(d) awedesTed

SR VT TTATIOH TP OO
X @

(a) &ee3o® EBof

(b) P& Gy 5 e3eeo®

(c) DFO F°

(d) R, ProHes®

8 FINSTTY  oIPD  BRRT
HOBIR,L T THN ROLOPATETY ?
(a) Szt BRI

(b) deer® cdnpeET®

(€) QBT D HT%Re

(d) 333803

32.

33.

34.

(14— A)

BRCOA LTAND

A, AT=TBOD 1. 2, FooHher®
)

B. dmrzmdod 2. P07 Bug,
Sckapky e3ewo?

Ragl

C. 5023% T 3. 2.0x=0°

wés@wﬁ é’@gae

D. =o=»g &%) 4. &ee30° 5t

Bedaens &Eo°
(Elet ]
A B C D

@ 1 2 3 4

b 4 3 2 1

c 4 3 1 2

@ 3 4 2 1

wémwéoﬁ TODOL, BRTNTDY
QP
BeOBRTITO ?

(a) wooemE®

(b) X, Foohes®

(€) Faz°® weg  tewot
(d) Foon®

Q.8 2o DOTTE 2

(a) =wISewsdoes® a.jjeswgzawg

(b) =OT® DAIRT ene FpeR®
(c) RBeestedors® o sne plema®

(d) SO e3¢ AR
BSeTTE,



28.

29.

30.
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Which of the following is not a
principle of management
according to Henry Fayol ?

(a) Subordination of individual
interest over the
organizational interest

(b) Esprit de corps
(¢) Unity of managers

(d) Unity of direction

Which of the following is not
included in the model of the
systems approach to Human
Resource Management ?

(a) Human Resource planning
(b) Recruitment and selection
(c) Performance appraisal

(d) Departmentation

Who i1s considered as Father of
Scientific Management ?

(a) Peter Drucker
(b) F.W. Taylor
(c) Victor Vroom
(d) Henry Fayol

Who is not associated with HRM ?
(a) Michael Jucius

(b) Dale Yodar

(c) Edvoin B Flippo

(d) K.K. Devit

32. Match the following :

33.

34.

(15-A)

A. The Practice of 1. Henry
Management Fayol
B. Philosophy of 2. F.W.
Management Taylor
C. Scientific 3. Oliver
Management Sheldon
D. General and 4. Peter F.
Industrial Drucker
Administration

Select the correct answer :

A B C D
@ 1 2 3 4
by 4 3 2 1
c 4 3 1 2
@ 3 4 2 1
Who has given ‘fourteen’

Principles of Management ?
(a) Barnard

(b) Henry Fayol

(c) F.W. Taylor

(d) Flemming

What is M.B.O. ?
(a) Management by Objectives

(b) Multiple
Organization

Business

(c) Management by Organization

(d) Multiplicity
Operations

of Business
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The main advantage of functional
organization is

(a) Simplicity

(b) Specialization
(c) Experience
(d) Authority

Which of the following is the
most  democratic  form  of
organization ?

(a) Line
(b) Line and Staff
(c) Functional

(d) Committee

Match the items in LIST-I with
items in LIST-1I :

LIST -1 LIST - 11
A. Peter F. 1. M.B.O.
Drucker
B. F.W. Taylor 2. Scientific
Management
C. Henry J. 3. Industrial
Fayol Psychology
D. Hugo 4. Functional
Munsterberg Theory
Select the correct answer :
A B C D
@ 1 2 3 4
b 1 2 4 3
c 4 3 2 1
@ 3 1 4 2

38.

39.

40.

41.

(17-A)

The concept of M.B.O. originally
came from

(a) F.W. Taylor

(b) A.H. Maslow
(c) Henry Fayol

(d) Peter F. Drucker

In which type of organization is
‘grapevine’ communication
used ?

(a) Informal organization
(b) Formal organization
(c) Departmental organization

(d) Matrix organization

Which of the following pairs is
not matched ?

(a) Frederick Herzburg
Scientific Management

(b) Henry Fayol Modern
Management

(c) Max Weber : Bureaucracy

(d) Philip Kotlar :
Management

Marketing

Which of the following was not
main contribution of F.W. Taylor ?

(a) Scientific Management
(b) Time and motion studies
(c) Differential wage plan
(d) Modern Management
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Human relations approach of
management is associated with

(a) Abraham Maslow
(b) Peter F. Drucker

(c) Elton Mayo

(d) Herzberg

The function of “staff” in an
organization is :

(a) Take advice from line

(b) Advice the line

(c) Hold authority and
responsibility
(d) Fix responsibility for

performance of tasks in a
definite manner upon certain
individuals

What is the operative function of
HRM ?

(a) Controlling

(b) Organizing

(c) Procurement

(d) None of the above

Workers participation n
management in any organization
1s

(a) Voluntary

(b) Institutional

(c) Democratic

(d) All of the above

46.

47.

48.

49.

(19-A)

In case of primary Co-operative
(Souharda Sahakari), the Board
size shall be

(a) not less than 10, & more
than 15, excusive of Chief
Executive.

(b) not less than 11 & more than
15, exclusive of Chief
Executive.

(c) not less than 15 & more than
20, exclusive of Chief
Executive.

(d) not less than 05, & more
than 15, exclusive of Chief
Executive.

Which of the following functions
is closely related to management ?

(a) Planning and organization
(b) Staffing and control

(c) Planning and control

(d) Planning and staffing

The purpose of job evaluation is
(a) Training

(b) Promotion

(c) Wage fixation

(d) Transfer

HRM is concerned with :
(a) Workers

(b) Managers

(c) Co-workers

(d) All employees
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HRM does not include

(a) Job evaluation

(b) Performance appraisal
(c) Sales promotion

(d) Job enrichment

Micro Credit refers to

(a) Provision of short term

loans to farmers

(b) Provision of medium term
loans to farmers

(c) Provision of DIR loans to
weaker sections

(d) Provision of financial

services to low 1income

groups

The interest of a loan represents
(a) Administrative cost

(b) Cost of capital

(c) Depreciation

(d) Time value of money

Kisan credit card scheme was

introduced in

(a) 1998-99
(b) 1997-98
(c) 1980-81
(d) 2001-02

54.

5S.

56.

57.

21 -A)

Which  of the  following
agricultural loan 1is called as
production loan ?

(a) Crop loan

(b) Medium term loan
(c) Long term loan
(d) Both (b) and (¢)

Which  of the  following
repayment plan is also called as
balloon repayment plan ?

(a) Partial repayment plan
(b) Variable repayment plan

(c) Amortized
payment plan

decreasing

(d) Amortized even payment
plan

Loan advanced to purchase a cow
for dairying is called as

(a) Medium term loan
(b) Long term loan
(c) Short term loan
(d) Both (a) and (b)

Loans granted by government are
called as

(a) Direct loans
(b) Term loans
(c) Taccavi loans

(d) Self-liquidating loans
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priority  sector lending for
commercial banks ?

(a) Power generation

(b) Manufacturing fertilizers

(c) Small scale units

(d) Manufacturing pesticides

In which of the following loan
repayment plans the principal

amount remains constant

throughout the repayment period ?
(a) Amortized even payment plan

(b) Amortized decreasing

payment plan
(c) Optional repayment plan

(d) Flexible repayment plan

Loan advanced for development

of land can be classified as

(a) Self-liquidating loan

(b) Non self-liquidating loan
(c) Chattel loan

(d) Both (a) and (b)

61.

62.

63.

64.

(23-A)

The overdraft is the best example
for

(a) Chattel loan
(b) Collateral loan
(c) Hypothecation

(d) Personal loan

The market information system
developed by the Government of
Karnataka, giving the latest
information on agricultural prices
in the regulated markets is called
as

(a) Agriwatch

(b) Commodity India

(c) Krishi Marata Vahani

(d) Rytha Mitra

NDDB was established during
the year

(a) 1947
(b) 1965
©) 1966
) 1970

Operation flood’s phase-I was
financed by

(a) European Union
(b) IMF

(c) WHO

(d) FAO
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The HOPCOMS was first
established as Bangalore Grape
grower’s Marketing and

Processing Cooperative Society
during the year

(a) 1947
(b) 1951
(c) 1959
(d) 1960
The minimum support price
1s announced for which of
the following agricultural

commodities ?
(a) Tomato
(b) Potato

(¢) Ragi

(d) Onion

The Commission on Agricultural
Costs and Prices (CACP) was first
established as Agricultural Price
Commission during the year

(a) 1965

(b) 1975
(c) 1985
(d) 1995
For which of the following
agricultural commodities the

government of India announces
statutory minimum price ?

(a) Jute

(b) Cotton

(c) Wheat

(d) Sugarcane

69.

70.

71.

25-A)

In which of the following states

COMPCO undertakes the

processing of areca and cocoa ?
(a) Karnataka and Kerala

(b) Karnataka and Goa

(c) Kerala and Goa

(d) Karnataka and Maharashtra

Which of the following is an

example of mass contact method ?
(a) Krishi mela

(b) Office call

(c) Meeting

(d) Farm visit

Group discussion cannot be used
effectively when the number of

participants exceeds
(a) 90
(b) 30
(c) 10

(d) 100
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Which of the following is based

on the principle ‘learning by

doing’ ?

(a) Discussion

(b) Meeting

(c) Exhibition

(d) Method demonstration

Which of the following is an
example of individual contact
method ?

(a) Farm and home visit
(b) Radio

(c) Meeting

(d) Campaign

Miniature replica of an object is
(a) Model

(b) Graph

(c) Chart

(d) Poster

For which of the following type
of loans the Kisan credit card
facilitates the access to the
farmers ?

(a) Short term loans
(b) Medium term loans
(c) Long term loans
(d) All the three

76. The accounting principles that

77.

27-A)

states companies and owners

should be account for separately
(a) Business entity concept

(b) Going concern concept

(c) Monetary unit assumption

(d) Periodicity assumption

Which of the following errors,

each considered individually,
would cause the trial balance

totals to be unequal ?

(a) A payment of ¥ 248 to a
creditor was posted as a
debit of T 248 to Accounts
Payable and a debit of ¥ 248

to Accounts Receivable.

(b) Cash
customers on account was
posted as a debit of I 450 to
Cash and a credit of ¥ 450 to
Accounts Payable.

received from

(c) A payment of ¥ 79 for
supplies was posted as a
debit of ¥ 97 to supplies and
a credit of X 97 to Cash.

(d A
posted.

transaction was not
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financial statement are
I. Going concern

2. Accounting period
3. Matching

4.  Monetary unit

Select the correct answer using

the codes given below :

(a) 2and4
(b) 1,2and 4
(c) 1,3and4

) 1,2,3and4

Purchase of machinery debited to

purchase account is an error of
(a) Error of commission

(b) Error of omission

(¢c) Error of principle

(d) Compensating error

80. Receipts and payments account

81.

(29-A)

belongs to
(a) Personal account
(b) Real account

(c) Nominal account

(d) All of the above

Management accounting analyses

accounting data with the help of
1. Tools and techniques

2. Statutory forms

3. Auditors

4. Accountants

Select the correct answer using

the codes given below :
(a) 1and?2
(b) 2and4
(c) Onlyl1

(d) None of the above
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accounting helps

management in

I.
2.
3.
4.

Preparation of final accounts
Raising finance
Filing tax returns

Decision making

Select the correct answer using

the codes given below :

(a)
(b)
(c)
(d)

I and 3
2 and 4
Only 4
All of the above

With reference to the Bin card,

which of the following statements

18 not correct ?

(a)

(b)

(c)

(d)

Bin card is maintained by
the storekeeper.

Bin card contains quantitative
information about receipts,
issue and balance of each

item of stores.

Transfer from one
department to another or
from one job to another is

recorded in the bin card.

Entries in bin card are made
after the transaction has
been taken place.

84. The cost accounting procedure

involves the various steps in a

sequential order.

1.

Arrangement of items of
cost accumulated in logical
groups

having regard to

their nature and purpose.

Assigning or attaching over
head to products or services

by means of absorption rates.

To spread revenues or cost
over two or more cost units,
centres, accounts or time

periods.

Absorbing a whole item of

cost, or of revenue to a

single cost unit, centre,

account or time period.

Select the correct answer using

the codes given below :

(@ 1,2,3,4

(b) 1,4,3,2

(c) 4,1,3,2

(d) 2,3,4,1

B1-A)
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Indirect material scrap is adjusted
along with

1. Prime cost

2. Work cost

3. Office overhead
4. Labour cost

Select the correct answer using

the codes given below :
(a) 1and?2
(b) 2and3
(c) Only4

(d) Only2

Material control involves :

I.  Consumption of material
2.  Issue of material

3. Purchase of material

4.  Storage of material

Select the correct answer using

the codes given below :

(a) 1,2and 3
(b) 2,3 and 4
(c) 1,3and4
(d 1,2and4

87.

88.

89.

(33-A)

Which of the  following

statements regarding graphs of

fixed and variable costs is true ?

(a) Variable costs can be
represented by a straight line
where costs are the same for
each data point.

(b) Fixed costs can be
represented by a straight line
starting at the origin and
continuing through each
data point.

(c) Fixed costs are zero when
production is equal to zero.

(d) Variable costs are zero when
production is equal to zero.

Under-absorption of overhead

takes place when

(a) Standard overhead is more
than actual overhead.

(b) Actual overhead is more
than absorbed overhead.

(c) Absorbed overhead is more
than actual overhead.

(d) All of the above

Ascertain the total cost of the
job : Prime Cost : I 8,000,
Factory overhead : 10% of prime
cost, Administration overhead :
20% of work cost.

(a) 10,600

(b) 10,560

(c) 10,500

(d) 10,650
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are to minimize the possibility of
1. Error

2.  Fraud

3. Irregularity

4.  Misappropriation

Select the correct answer using

the codes given below :

(a) 1and?2
(b) 1,2and3
(c) 2,3and4

(d) All of the above

The first auditor is appointed in

cooperative bank is by

(a) Board of directors
(b) Official liquidator
(c) Apex bank

(d) Nationalized bank

type of audit is usually

followed in cooperative banks.
(a) Continuous audit

(b) Periodic audit

(c) Intermediate audit

(d) None of the above

93.

94.

9s.

(35-A)

Primary Cooperative banks are
governed by the Banking
Regulation Act of

(a) 1965
(b) 1939
(c) 1949
d) 1956

To avoid NPA position, the banks
provide

1. Syndicated loan

2. Bridge loan

3.  Ever greening of loan
4.  Overdraft

Select the correct answer using
the codes given below :

(@) Only3
(b) lTand3
(c) land?2

(d) All of the above

Cooperative banks provide
1. Lending services

2. Micro-finance

3.  Financial inclusion

4.  Deposit services

Select the correct answer using
the codes given below :

(a) land4

(b) 1,2and3
(c) 1,2,3and 4
(d 1land3
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From the following which one is

not related to the registration of

Co-operative society ?

(a) Promotion of economic
interest of members

(b) Promotion of economic
interest of the public

(c) Profit maximization

(d) (a) and (b) together

Withdrawal by a member of his

share in a society shall be valid

(a) held such share for not less
than three years

(b) withdrawal is in accordance
with bye-law of society

(c) withdrawal after one year
from the date of purchase

(d) (a) and (b) together

The most important principle in

lending is

1. Safety

2.  Profitability
3. Security

4. Returns
Select the correct answer using
the codes given below :

(a) Only 1
(b) Only 3
(c) land3

(d) All of the above

99.

100.

The liabilities side of balance

sheet reveals

(a) how the bank has invested

its resources

(b) how the bank has mobilized

its resources

(c) how the bank has managed

1ts resources

(d) how the bank has arranged

its solvency

Cooperative Banks in India

finance urban areas under
1. Self employment

2. Consumer finance

3. Personal finance

4. Home finance

Select the correct answer using

the codes given below :

(a) land3
(b) 3and4
(¢c) 1,2and3

(d 1,2,3and 4

(37-A)
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